<2018StA L 3}Hl7| =HEM 22>

= H= XX} ETtAL 7t A =%

1 |==0| et =7t aord AIERAH 14220 | 1 14,220
2 |gEF = RSN ES ojzzA 15120 | 1 15,120
3 |o{EA A AT} A Mztol A 13,500 | 1 13,500
4 (ATl T dtatg| LA 19,800 [ 1 19,800
5 |Zztol= EJRslES! 217184 15,300 | 1 15,300
6 |[0jEEoE digte 82 QAFLE HELHHA =2 13,500 | 1 13,500
7 MM 7+ RO A= S A 23E A0A 32| 9,000 | 1 9,000
8 |02 E% Thomas's Calculus Thomas , Weir, Hass X|-S pRERQMERE ¢ 45,000 1 45,000
9 |HZote| otx|at Ha|(ZHEE Ao|H A ga7tog 15,300 | 1 15,300
10 |OIESE #=8t0| X{O|RUOIX| = &=t OfL}7|OF Ot7|2tetitoll & 11,700 | 1 11,700
11 |28XY oLECH: £38t O|OF7|(HHB 2T Fapakel SOtALAL 12,420 | 1 12,420
12 (2Hd0]el =3t EME Z2{& 2r4n| SOtA|O} 13,050 | 1 13,050
13 |+, 2222 =5 9t ojgd o= E8HAL 13,050 | 1 13,050
14 |EEAA 7HEA 7 HiOJH|E OfX|& ots 10,800 | 1 10,800
15 |?IChSt +=StEXNE O|gt AROIE B 20,700 | 1 20,700
16 (MBS =5 E s A 12150 | 1 12,150
17 |M&e & 34 EM A gL 14,400 1 14,400
18 |43t 2C|A|O of 21| ESMZ 14,400 | 1 14,400
19 |0|2X-2%H6E HYPs 2RO E dEAM 43,000 | 1 43,000
20 |=AF EeiF MK 2HX| Ot 2% 21M17] 52 13,500 | 1 13,500
21 | 2 2o|= %[ QI 21417154 15300 | 1 15,300
22 |0iEE 2= HAEL Hi o]’ 21417154 12,420 | 1 12,420
23 |[&EM UEE arte 11,700 | 1 11,700
24 |&ER ZAYE arte 11,700 | 1 11,700
25 |EEeted gl Yet &2/t arte 13,500 | 1 13,500
26 |'&ZOj2| Ho| S5t= T WA= arte 14,400 | 2 28,800
27 |=hdollA A MZEelTte O|A}Z} DELZ arte 13,500 | 1 13,500
28 |«btEte E2{Che Q| D&cCO|C|of 13,950 | 1 13,950
29 |ofOf2tn ECte? Qe D&CO|C|of 13,950 | 1 13,950
30 |ofOfEte E3Ches Qe D&CO|C|of 13,950 | 1 13,950
31 |0t =2{Cte4 OFe| D&CO|E|of 13,950 | 1 13,950
32 |Yojeta E2{Ches QHHE| D&CO|C|of 13,950 | 1 13,950
33 |ofOfEte E3Ctee Q| D&cCo|C|of 13,950 | 1 13,950
34 |ofOrEte E3rte7 Q| D&CO|C|of 13,950 | 1 13,950
35 |0t Ojetsy Opm2h flof KMAC 12,600 | 2 25,200
36 |ASsH AcEWolo 2 2o £E0/3|2 RHK 13,320 | 1 13,320
37 |ata O|AF} DEIR RHK 13,320 | 1 13,320
38 | BT AHHOA 22M TSt E HEH 7tLHEEAL 12,420 | 1 12,420
39 |WMYRE 4] ZHM| 11,520 | 1 11,520
40 |4 HIMZE Y O=IH HqEe 7tst 8100 | 2 8,100




41 |ZHXMZER D HqE& 7tst 8,100 16,200
42 |Hg ER| e ZOfLER 15,300 15,300
43 [EOL =2 M AsEl ZdeUR 12,600 25,200
44 |O|MI2H 2lmE F 7|X]| N2 A0 T A7 A=LtR 12,600 25,200
45 (Y A0t AfEtEl Al Wz e2jolE 42 = 14,220 14,220
46 |E2A =07 ZAHIOFA] OFAD| des 12,150 24,300
47 |2t 50/7| O HIOFA| OFAD Hes 12,150 12,150
48 |XlZ, 07|= M=0| B2 Hof o5 4eBP 12,150 12,150
49 |0ofesn, otQlm, BHET| 42 9 ozl Zagocof 13,320 13,320
50 |d=2l 2% da2|7| A A2 10,800 32,400
51 |4l =3t At 2 nEEn 14,000 14,000
52 |otF s 3|l mielel] 12,600 12,600
53 |ns¥E 0 B of W ASHAL 19,800 19,800
54 |&tuet ng zMZ misinl SN 16,200 16,200
55 |AHRLst & = U J2H| 18,000 18,000
56 |7HE HE2|AF 5t0| 20| & a 11,700 11,700
57 |He EHS TA0| OtALR 7| =¢ 11,520 11,520
58 [Ol=Af 28T Lto|7t £ e 7}REL DjM R =g 11,520 11,520
59 |QIEYT s =gotz| 10,800 10,800
60 |7t Oie| CH2 U3 2|HHSFAIRI= 5 FAl BE 3402 40| 13,320 13,320
61 [21M71E8 ¢ w8 stk YA 19,800 19,800
62 |SE7F M2 ¥E ZGA 10,800 10,800
63 |27 Hz=z| AxE LA 27,000 27,000
64 |Eo 4 E o ¥ B3EERA 10,800 10,800
65 |&Ofo| A Xtof Lt o|Hy LR &K 11,700 11,700
66 |0 2IEolzts 27| Ex A LISzt 12,420 24,840
67 |ZE9 108 &7, 1004702 ZAEQ BEAE A LEod 8,820 8,820
68 [AM=23 <34 Lt HO|Xt 11,700 11,700
69 |OHX|SH TH2|A| £Ql 2|2 BAEE Lt o| Mgt 13,320 13,320
70 |OFAAH o|&n| Hollolgd 13,500 13,500
71 |&el ojof7| BE HHe HemM 11,700 11,700
72 |RE17HEH E= Al olg G A 11,700 11,700
73 |#H0IA SHEf 4 M ABOOKS 11,520 11,520
74 |Hol IR E Z|hz 4 M ABOOKS 12,420 12,420
75 |OFA(=E 2 MU|7ket TELR cgatel 11,700 23,400
76 |Y¥FEIE Lteo| o L£0tel 14,220 14,220
77 [HOH =1 Lo LH cEotel 10,800 10,800
78 |HIOHZ22 Lten| Ok 10,800 10,800
79 |HHHZ23 Lteo] L] = E0rel 10,800 10,800
80 |HIOU 24 Lten| Okl 10,800 10,800
81 |HHUH 25 Lteo| Lt cgotel 10,800 10,800
82 |HOUZ6 Lten| 0k 12,420 12,420
83 |HIOU =7 Lteo| o L£0rel 12,420 12,420
84 |H O Z8 Lten| cEOkel 13,320 13,320
85 |HM{=29 Lto] ] cgatel 13,320 13,320
86 |HHHIIHI} A3 35 OhZ CHO|Of 2 HYR = 14,400 14,400




87 |HiHtmtmt A3 245 Qg Cto|ofe HER = 14,400 | 1 14,400
88 |HErEol QIMAE O|7I2tA| OJ7| 2 = 14,400 | 1 14,400
89 (Al = A0t AsEl =3 12,600 | 1 12,600
90 |oE, OIC|M7F AIH|Zt SR = 12,420 | 1 12,420
91 | ZAEZ| B E2g =3 11,700 | 1 11,700
92 |H2EH & oM HaF LAY 13,950 | 1 13,950
93 |4Hzte AF FARNESS HES 13320 | 1 13,320
94 |H|IO{EFR Z =g s ok ChAbxdgt 14220 | 1 14,220
95 |=&0t2| of7|UCt m =2 30t ChabsH gt 13,320 | 1 13,320
9% |0l&2 EE2IX| Y=t Z2|Q gtA ChAbat g 11,520 | 1 11,520
97 |2Hi2t= At Z =g Hja ot CHAbxi 12,420 | 1 12,420
98 |Z=A C.JL &M CHAbxi 13,500 | 2 27,000
99 |U7ILIE fI2E ALt cHed 11,700 | 1 11,700
100 [gAlolats oA =g = 12,420 | 1 12,420
101 [oHif A5 E AS o|7|1F = 12,600 | 3 37,800
102 [417}0] OFEE Walker ¥ 7 AM7to| OIRE CH 2 M 00| 18,000 | 1 18,000
103 [A2A B2E 7|2lofot R E CH2Imoto| 8820 | 1 8,820
104 [BE=0] Hg st 2R Mg Ciz2telga 11,700 | 1 11,700
105 A2 XISkt FAlI= ek 11,700 | 1 11,700
106 |MHIHE MEEX] LUAXICH, D= HE A0 O HXMAT A EZmHL 13,500 | 1 13,500
107 |This is 2EF DNA FARSES =ME 13,500 | 1 13,500
108 |=7k2t 2417t SAE =Hi|7H 13,500 | 1 13,500
109 (Lol sh=3 i AL A2 S H| | 16,200 | 1 16,200
110 |FALS| GAt AL S H|A| 14,400 | 1 14,400
111 |0l A% EHSIHE SAEL L 852 Y4 12150 | 1 12,150
112 |otF Ed3t 87| WH H| A, 22t G|O[H| A I 22,500 | 1 22,500
113 [HICQt Atz e PR Bt =4 18,000 | 1 18,000
114 (% Ho|LAEE gict o|ztd Y4 13,500 | 1 13,500
115 |2A &0t7t7] SH= a4 13,500 | 1 13,500
116 |M&=2del =23t HE SOFA|OF 12,600 | 1 12,600
117 [ol&st ot 434 SOtA|O} 13,500 | 1 13,500
118 [E2tAE of2l Y| EOtU AL 8,820 1 8,820
119 (4ol Y Ze(Ed) FaEdsopd sHsH 13,500 | 1 13,500
120 (2% O|ZA = AretLITt HAIZE LRIE| FAlQLEE 13,500 | 1 13,500
121 [#2BF522UN o|gt cgga 8100 | 1 8,100
122 |#QBE2EUH2 Olet EASA 8,100 | 1 8,100
123 (225532243 o|&t CEsA 8,100 | 1 8,100
124 |£EE22H4 o|&t cgsAa 8,100 | 1 8,100
125 |&2ESEF2EU5 Ozt EASA 8,100 | 1 8,100
126 |£2E=224l6 o|gt CEEA 8,100 | 1 8,100
127 [&#2BF224H7 o[%t cgga 8,100 | 1 8,100
128 |HHEY AU 1 o|%t ElsA 13,500 | 1 13,500
129 |38 AFH 210 Olet EASA 13,500 | 1 13,500
130 [EEE AFHA N ozt cEgA 13,500 | 1 13,500
131 [HEY LRHA 12 o|&t EgsA 13,500 | 1 13,500
132 |8 dFH~ 13 o|&t EgsA 13,500 | 1 13,500
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225 |SH2| ZE{Qt AR 7|AtEH 4 ZHK EY el 8,550 8,550
226 (SHE2| ZEQF EALE 7|ALEE S ZHK EY et 8,550 8,550
227 [si2] ZEQt 2| TH1 ZHK EY 2%y 8,550 8,550
228 |sf2] ZEQt =2of Tt 2 ZHK EY Zo+y 8,550 8,550
229 |sf2| ZEQF =2 Tt 3 ZHK EY 23t+H 8,550 8,550
230 (o2 ZEeQt 22| Tt 4 ZHK EY el 8,550 8,550
231 [s2] ZEQL H| 2ol B 1 ZHK EY 23ted 8,100 8,100
232 (o2 =ZEeQtHIZel &2 ZHK EY et 8,100 8,100
233 [sl2| ZEQF Of=7Eke| X4 1 ZHK EY 23teH 8,550 8,550
234 (o2 ZEQt Ot=FtHte| |- 2 ZHK EY el 8,550 8,550
235 [oi2| ZEQt M{FE2 00| 1 ZHK EY, EEOY |2seH 10,800 10,800
236 [oi2] ZE QL MFE2 010] 2 ZHK EY, ZEEOY |ZseH 10,800 10,800
237 [si2] ZEQt F322| €& 1 ZHK EY 2%y 8,550 8,550
238 [d2| ZEQ F32 ME 2 S = el 8,550 8,550
239 (diz| ZEet £32| ¥4= 3 ZHK EY 23t 8,550 8,550
240 |SH2| ZEQt =32 424 ZHK EY Zosy 8,550 8,550
241 [di2] ZEQt S 1 ZHK EY 2%y 8,550 8,550
242 (di2| ZEQt SR 2 ZHK EY el 8,550 8,550
243 (o] ZEQt =&AL 3 ZHK EY oy 8,550 8,550
244 (o2 ZEQt =HYX} 4 ZHK EY el 8,550 8,550
245 [SH2|ZE{Qt HFE2 of0] 18 KEY et 10,800 10,800
246 |SH2|ZE et XKFHH2 oo 25 KEEY 23teH 10,800 10,800
247 [MEOIX|= SYUCH 2+50] = StH| 2t 12,420 12,420
248 |&7| B Aezlot 2|EH FUEE 16,200 16,200
249 (Ot 22 AtOo| O AH ' At 2e|& FHEXN ojcjoj et 14,850 14,850
250 |=| ofof7| ol Bl ojzgel & 16,200 16,200
251 |/RE 22 =otE o|2fo| & 13,500 13,500
252 [22telZ Argof kx| Ct Z0l M2 Oj o A A 12,420 12,420
253 |22ty F0|E Lot Z0| M2 ], PNES 12,420 12,420
254 |Lb= 149k MO E = 3|otCt SIS QA74m| 12,600 12,600
255 (1984 =X 24 RIS AL 8,550 8,550
256 (38 A2 A2|E O{EA HHR =7t 2| HiX| E DIgAt 19,800 19,800
257 |gZoz| of¢l 223 ot= DIgA 12,600 12,600
258 |=gH Sds&U0l QIS AL 9,900 29,700
259 [F Y=ol WAl AROE E8 atst 14,400 14,400
260 |ZHMAE O/2HE 1 HExzt gtr| 10,800 10,800
261 |AT™IAE O2tE 2 3™zt gk 10,800 10,800
262 |LtH[Of, o|2] Hotlz} 1 Zd gl HFC|ESEAL 10,800 10,800
263 |LtH|OF, O|2| Hoteldat 2 rage sl SHC|ZEhAL 10,800 10,800
264 (& & W 20t0| ghe0|zy 22,500 22,500
265 [StEE Li= 012, AR0|C|20| i EEI0|E o1&y B AR ERAL 11,000 11,000
266 (HS22 & HEot AFSt, 0w & £ 13,500 13,500
267 |2=2 0|F & &R EEx 233 11,700 11,700
268 |QEE, TA ax groie 13,050 13,050
269 |27t HEQHEO| M|A ojot& sato|= 11,250 11,250
270 (st22| F& 4oE SEo|= 12,150 36,450




271 |24 &7 HotsolMa of2|of AE0|Qk = 12,600 12,600
272 (MEoj2A1 = 13,500 13,500
273 |ME2ojEA2 5 14,400 14,400
274 |8 X|F 21 QU0 £2E 13,320 26,440
275 |BZSE MEs It HiO[H| & K] E2E 13,320 13,320
276 (99| =1 EEIENSFIpNE] AR 8,820 8,820
277 (9] &2 Az|AEY X2 AR~ 8,820 8,820
278 [EXtM ZESHRL? S EOFOL 7k S22RE 12,150 12,150
279 |AMZtE HEE =SEZR 14,220 14,220
280 |RE|7F & T M4 L == SEZR 13,500 13,500
281 [HR2 <2 2o Ao a SEZR 10,800 10,800
282 [ X|OF XM & QIALA SELHAL 13,500 27,000
283 |20/ # gl UH OFF0rE 7t SE2txt 13,500 40,500
284 (&0l 7tE AY A D& SE2tx} 13,500 27,000
285 [T MSARE 7|2 © SEatxt 13,500 13,500
286 |HO|AQo| A LEZFoFOr A[X| 2| =EFE ML 14,220 28,440
287 |=E3 Y EH{E 30t0|0f HIEA 9,900 9,900
288 [BTSE H3toirt b2 Al 13,500 13,500
289 |=2[7t #RIXl= OHE H| 20,700 20,700
290 (L= OHY ME 97|= Rt 11,700 11,700
291 (X119 Bizh= OfCIM A|ZtE|=7F 13,320 13,320
292 |O|&7+E Qe Yol ofsiet 18,000 18,000
293 (E¥=O|C| 11,700 11,700
294 |F35{7F g7t 12,150 12,150
295 (HR0|M ARHZ : X X| 16,200 32,400
29 (2 de a4 M 8,100 8,100
297 |AH 2 243 7,650 7,650
298 |AH 3 233 6,300 6,300
299 |OFSO0f Q22 W AE 82 AeE 12,420 12,420
300 |=QlE Q% Lizte QiCH AW 0 9,900 19,800
301 |HOl= Z+ASHA Aol 14,400 14,400
302 [F2 5 Hel & =7 88 4| 11,700 11,700
303 (Al=E ECtH 12,420 12,420
304 (A, =R LM, UX|M 12,600 12,600
305 |Lbe ZAlo] Mo ™ ZHEL|CH HA3| 11,700 11,700
306 (&= HAAOIAL RMIT olga M= 12,420 12,420
307 |O1EA & At AL Mztold 13,500 13,500
308 |FAIRIS] M| EZ A Mztold 15,000 15,000
309 |BHO| 7|& A Mzto| 14,400 14,400
310 |22 ¢oj 20| MA™-ANE 11,520 11,520
311 |E AROE 2 XtRE EAROE Y MEAL 21,850 21,850
312 |&E2 AlQIo] AbE N. H 22telHtE MIEEA 11,250 11,250
313|220 ®MA| EEER LT EED M7~ 15,120 15,120
314 (HAHEES 2ls #2[X| M3 7,650 7,650
315 |t Smstn AtEstat AEETA 12,420 12,420
316 |HE Ofo AEETA 13,320 13,320




317 (ool syut AN o]k Z40|0/c|of 12,420 | 2 24,840
318 |LRIXO| AO| A CHEHO|OF O| x| T MXY 12,420 | 1 12,420
319 |7tH| Tea O+ 101 O &gl S+ At 13,500 | 1 13,500
320 (22| Filo] F=rtH AL FHAIC], & =5{E|  [AISAL 13,500 | 1 13,500
321 (M7t EoH Zop7HolR o= NS A 12420 | 2 24,840
322 |24 T gAlm 100 N /7|1 AlaotsA 14,400 | 2 28,800
323 |ADHDS} L =80/= H Y Alop= A 11,700 | 1 11,700
324 |otsECiof BTt Fl=2 HE FO|Z, AQIE o 3 Aliel & 12150 | 1 12,150
325 (M7t 5tR0t Alof ZEhAF 12420 | 2 24,840
326 [30l= 7H20] &tch 1 = Adoloof 8,100 | 1 8,100
327 [30l= 7HEO0| At 2 =EfF Adoloof 8,100 | 1 8,100
328 [30l= 7HEO0] Atct 3 =EfF Adolgof 8,100 | 1 8,100
329 (RHEL =Y &80 HEzto|x 12,600 | 1 12,600
330 [LhE ZHSAL AR LICE ot A QH T 74 A 12,600 | 1 12,600
331 |EHSHRE HE AESHR| @2 0] Qi FANES M QNI A 12,600 | 2 25,200
332 |&SHA|, 2Lt EhE kA FAA M ORI} 7| A 12,600 | 1 12,600
333 |¥AlQ 14 DA[7HOF QAR WA~ 10,800 | 1 10,800
334 (ol Yol =4 of2aLtelmiCc|iol A& 13,500 | 1 13,500
335 (20N F HmY ALY Ot7|Et 240] OfZ2H| 14,400 | 1 14,400
336 |LIAIREF AFRIZte] HIH o|Zroj 2 OfZ2H| 12,600 | 1 13,500
337 |& A0 e OtZH| 13,500 | 1 13,500
338 (O3 Ha SOL|A| oF7 |2t Of=E 12,600 | 1 12,600
339 (OHE A~EE Ojx d= OfZH| 14,400 | 1 14,400
340 (B 228} A EtEE Ot 2| 13,500 | 1 13,500
341 (A9 7tEH| 0 LIMZEQE A7 OfZ2H| 11,700 | 1 11,700
342 |Me| FtEH| 1 LIMZERE AAH Ot2H| 11,700 | 1 11,700
343 |49 Ft2H 2 LEMTQL A7 = 12,600 | 1 12,600
344 |ble| 7+2H| 3 LtmItot AAF Ot2H| 13,500 | 1 13,500
345 |QI0|2 N2 & ojold OfZ2H| 16,200 | 1 16,200
346 |22 C|2 ojolof Of2H| 13320 | 1 13,320
347 [EEf7t? RA0|E o] &0 Ot2H| 12,600 | 2 25,200
348 |F1 A2 QAL HALYO| L HIE|AE H2|&7 Of=E 12,600 | 1 12,600
349 |M=Z0M 2 A R T3t Ojx d= OfZ2H| 12,600 | 1 12,600
350 |&&9 7|& ZHZ SEQH £ C|oHBt 2| 13,500 | 1 13,500
351 |Z2H A C|2 ojolof Ot2H| 13,320 | 1 13,320
352 [slM=z “t= 2 gol2 OtZH| 14,400 | 1 14,400
353 [SO0|E LIo|E QA EtEE Of2H| 13,500 | 1 13,500
354 (0f& ofO] E2l gol= o ==t juliu o) 13,500 | 1 13,500
355 |FTLE OlsiE == = HOiY 0|2 Ofo|F & HELR Oto| & 19,800 | 1 19,800
356 |71 AHzjAa datd & 12,600 | 1 12,600
357 |2E @S XL GA0A A A ot 16,650 | 1 16,650
358 |Zdofol wy W2IXHH E S A EASHY |20t 11,700 | 1 11,700
359 |112XF Aolatd S| 7kA| = A o] oflo| x| Zz|of 13320 | 2 26,640
360 (7HE Ol W2ts oA =1 4Tt LtEf = ojlo|x|Z 2| of 11,700 | 1 11,700
361 [&E0| F MEFEX| Yotz HEOt FE0| oflo| x| 22| o} 12420 | 2 24,840
362 |ZE0| F d=0 L2 0fd AU 0| # roflo| x| 22| of 10,800 | 2 21,600




363 [HX e HIY Az Kbt A~ =2 @ O|X| 22| O} 15,300 15,300
364 [HAO| OIS S QtOEAH R FAPNESS ojlo|x|=22|of 13,320 13,320
365 |=7HH| 1 de=s, d+=d rofjo| x| = 2| of 12,420 12,420
366 |[M 7|9 7|& o7|RE otojjo| x| 22| Of 13,320 13,320
367 [O+SLCHR B7| PN o] ik oflo| x| Zz|of 13,320 13,320
368 ¥z, Tl Zg Okt O] 4% Ltzte| WA 2ojlo| x| 22| of 12,420 37,260
369 (& AFTH 2N uxjz ojjo|x| = z|of 13,320 13,320
370 |5t 42 CHE Motz Ao} 82 HESA 11,700 11,700
371 | 8x&9 mtet EME s GEEEES 12,150 12,150
372 (2% YXt= RSN ES VEEES 15,120 15,120
373 |HE09| AlZH HESHAte| 35 HEH olzzlE= 17,550 17,550
374 |AHRE O Yotop g AS FARN RS AEZ 12,600 12,600
375 |OtEO] U= H FAR ] AHA 2 12,420 12,420
376 |LIo| RLAET AH(OIEA2) S AZAI2 12,150 12,150
377 |Lto| RZED YH(E,AHE) SRS WA 2 11,250 11,250
378 (&2 siltl Mol Hf L SRO| A2 12,420 12,420
379 |0OpgQ| oto| L ZRO| A2 14,220 14,220
380 |HiZHel Ha| ol sts 4 L ZRO| PN 11,520 11,520
381 |HHEte| 22| Yol Sts o L SRO| A2 11,520 11,520
382 |HREfe| HiC 0|3 2| 7|5 L SRO| AdA2 12,420 12,420
383 |HXEIXF & QE} 0t0] A2 14,220 14,220
384 [RHZ(X} ot QFE} 0}0] AAI2 13,320 13,320
385 |A|QIECl Al O|OpF 2t OrAFS| 2 A2 13,050 13,050
386 [t MFAA QUXIQL Bk AN 2 14,850 14,850
387 |Z4 7|Eol ofLtED|@: =Y. 2%t ol Lol [Biis Zarins, Sandis Kondrats A X|Of O| K| EA 47,310 47,310
388 (MO Z™ FX| A2 ofo|¢ 19,800 19,800
389 Qi 23} FAI= daEAt 14,400 14,400
390 (0] 1 HI 2Lt H 2| gUME 11,520 23,040
391 | 10| 2 HIZLIZ H| 2 EEEES 11,520 23,040
392 |WIbo| Al AR HAML| = ZH|X| gEME 14,220 14,220
393 (R Zef Ch2 o0l & HER &2 FUME 19,800 19,800
394 (411 HEL2 W22 gRME 8,820 8,820
395 |FEls AXNZEO e 53t gEME 11,520 11,520
39% |[&1 HIELIZ H 22 RS 12,420 12,420
397 &R H2UZ H 212 gUME 12,420 12,420
398 |O]2HoilA 2 EX| wHa g 12,600 12,600
399 [RaEH 2N gEztod 8,100 24,300
400 |2HZEE1 OF2ofOf It Fe=Euolto 8,100 8,100
401 |2HEE 10 OFFOoFOF F7H| SH=uolC o 9,900 9,900
402 |12HZEE 11 OrFoFor 7| SHEuolgof 9,900 9,900
403 |2HZE 12 otz ofot 7t F&EToICo 10,350 10,350
404 |RHZEE 13 opFoFor F7H| FeEHolto 10,800 10,800
405 (QHZE 2 ot ofot 7t F4EToICof 8,100 8,100
406 |RHEE 3 ot ofot 7t FHETOICIof 8,910 8,910
407 |2QHEE 4 otz ofot 7t =TT 8,910 8,910
408 [QHEE S opFoFor F7H| FaETOICo 8,910 8,910




409 |2HEE 6 otz oot 7t FAETOICof 8,910 8,910
410 |RHEE 7 opFoFor F7H| GaETOICo 8,910 8,910
411 |2HZE 8 Op20pOF T 7H| SHEuolC o 9,450 9,450
412 |RHEE 9 orFoFor 7| FaET0ICIof 9,450 9,450
413 | HE2 SF Tt Ol 11,520 11,520
414 |AS0tE 4, 19 = F7|2 ZH3C stofof ototz| Ofl & 11,520 11,520
415 |YE 252 Loy ZetAICH Z O ol g 12,420 12,420
416 |AtESIEE SHAE MR 2 M E F A2t @zfE o2y 8,550 8,550
417 |LhEN| Atk M Qg9 & 13,950 13,950
418 |F=Al=el, XPHO| LA 2 2Tt 3 UER 2EoE 11,700 11,700
419 |08, EaBE otofM QEolE 11,700 11,700
420 |&Qlop Zo| Ty LtZFoFOr A[X| 2| QSMAI 11,700 11,700
421 |MolZ 22 2| 022 & ER LY &5~ 13,500 13,500
422 (oLt MF QAEHA AAF 2ct 11,520 23,040
423 |™olgt FodQI7t oro| 2 MHE Qto|=Hij 2| 13,500 13,500
424 |0j20| E|H Pl QCAE 14,400 14,400
425 |0} off ot 2 1¥e SFELY 11,700 11,700
426 |=7tol 3 SRR STUX| AL A 14,400 14,400
427 |F22 Sele 22F QT L AZ SUX| A2~ 12,600 12,600
428 |SHOFE{™ F M| & HCt shat SAUX| AR~ 13,500 40,500
429 |UW MR Moz Qe = R HEH HHAFA 12,600 12,600
430 |wa2tstd ojEo| M2t & QIAEIM O E &M, AW E HAHYASA 12,600 12,600
431 |2 1000 = 1O E &AM & 2= g Zelgk ojlgs HHAsA 13,500 13,500
432 |2l HFEX| =0t OfE[A HEE 45 14,220 14,220
433 |7} F0{of 5= & HNHFAE|QF TH 2 =g ste2 13,050 26,100
434 |LtO|A cHegt ot & MEstol St A=EE A 13,050 13,050
435 |RE &=7t0] HRACt SHEN2 I=EsI A 12,420 12,420
436 (ME, A Al ofgt= AHX], 4 S Eat= Lo/t 13,320 13,320
437 |OfXto| Hof= Hol ¥ ZOiA| =g 12,420 12,420
438 |2tHSHA AtESHE HO|A| A =HslRA 11,700 11,700
439 (o|O] oA e=d| izt a? O Ets A=HE A 12,420 24,840
440 (T3 S22l 1 Az|otef K| 10,800 10,800
441 |85 S22(Y 2 Adzlotd fIK 10,800 10,800
442 [2|3toAL LA 1 a2 2K 10,800 10,800
443 [Q|TtolAr LA 2 a2 K| 10,800 10,800
444 | QoA H2|H 3 o 21X 10,800 10,800
445 |2t AL 2| H| 4 ¢ e 10,800 10,800
446 |t oY 1 Adelotd !xE 12,150 12,150
447 (et MY 2 Aot X5 12,150 12,150
448 |Z2{Ql T B2 Moo= 0| F0| AL FEAIOF MIRIE 25 14,220 28,440
449 |LESILL HEES #olg| LIO|E QAIS|E freEa 11,700 11,700
450 |2Z22 Foji1 2Fe} 3|H R 2ALIR 10,800 10,800
451 (228 & ] 2ULLE 11,700 11,700
452 |E[0j&o| o o[zt =2l 2YLR 13,500 13,500
453 |EAle BASE AHETL sz SFE3AL 13,500 13,500
454 |OtL|2t 1 Hdt= 7| of A Atle @3 SFET A} 11,700 11,700
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501 |=&0lel & FO E8 | 10,800 21,600
502 |f 2Me, oHE Ha N5 HHns 11,700 11,700
503 (207 o|gt HHn& 13,500 13,500
504 |42 ® 7|Al S22 | 12,600 25,200
505 |s2d S|7Al Ao 1 P 11,700 23,400
506 |0 W7t = 5| 7kAle A0l sl 10,800 21,600
507 |FAIN & st g A Zhm) 10,800 10,800
508 |&A1Q| Ltat EZC|A AL & AEY Q| # M A 14,400 14,400
509 |Etel2 Lt Al OfOFR Mol=ngo| 8,910 8,910
510 |®22 XLt oiE siloja Mel=+=ad 11,700 11,700
511 |888 ZdZ, 19 A 8,550 8,550
512 |0]% =504 olz|d HaLife 14,220 14,220
513 [HHetE2|st Harris Benson 24 50,000 50,000
514 |9ff Lt L YHEHRS Ho|zy 10,800 10,800
515 |H589 =840 HE Z™S HOtE A 10,800 10,800
516 |HIZ|=1 A8z Hojg 7,200 7,200
517 |HIZI=10 a8= Hojg 7,200 7,200
518 |HIZ[=11 a7z Hojg 7,200 7,200
519 |HIE[Z12 aAg= Hojg 7,200 7,200
520 |HIE[E=13 ARz Mo 7,200 7,200
521 (H|2l&Z14 a8z o 7,200 7,200
522 |HIZ|=15 472 ot 7,200 7,200
523 |HIE|Z16 ARz Hojg 7,200 7,200
524 |HIE|Z17 ARz ol 7,200 7,200
525 |H|2[=18 a8z Hojg 7,200 7,200
526 |HI2[=19 a8= Hogt 7,200 7,200
527 |HIE|E2 ARz ol 7,200 7,200
528 |H|E[=20 a7z Hojg 7,200 7,200
529 |H|Z[E=21 ag= Hojg 7,200 7,200
530 |H|E[=22 a8 Hojg 7,200 7,200
531 |HIZ|=23 aAF= Hojg 7,200 7,200
532 |[HIZ|Z=24 a8 Hojg 7,200 7,200
533 |HIE[=25 A8z Mo 8,100 8,100
534 |H|I2|=26 aFz= Hojgh 8,100 8,100
535 |H|E[=27 472 Hojg 8,100 8,100
536 |H|Z|=28 482 ot 8,100 8,100
537 |HIE|=29 ARz ol 8,100 8,100
538 [H|Z|&=3 a8z o 7,200 7,200
539 [HI2|&Z4 a8 o 7,200 7,200
540 (H|Z|ZS5 482 Hojg 7,200 7,200
541 |H|Z|=6 aAF= Hojg 7,200 7,200
542 |H|Z|=7 a7 ol 7,200 7,200
543 [HI2|E=8 a8= Hojg 7,200 7,200
544 |H|2|E9 a8= Hojg 7,200 7,200
545 [H|FH=1 == o 7,200 7,200
546 |H|F{= 2 == Hojg 7,200 7,200




547 (&= ol 10,800 10,800
548 |2t=2 Holg 10,800 10,800
549 |2l ot7|2 gL Tt 7HAEA 11,700 11,700
550 |Mif2|E[QF 7O HRLAOMTA 8,820 17,640
551 |27, oot ZAX ety 12,600 12,600
552 |WARH| 0§AHZ Max Movie Issue #38 Ao|HE 10,800 10,800
553 [Z0tM 2=4 ofLfola Zete 12,420 12,420
554 |OfAAX| QfOtE HEECH ZLE 12,420 12,420
555 |Al3 StX| B AKX o Elol= 13,500 13,500
556 |EIO[Ete] =315 EHolE 13,500 13,500
557 [BTS o=y It Alof 11,700 11,700
558 |ZE9| x| 1 oo & 7,200 7,200
559 |Z&Q| gl 10 oo & A 7,200 7,200
560 |Z&EQ| EH 11 oo A 7,200 7,200
561 |ZEQ| gl 12 oo g4 7,200 7,200
562 |ZEo| g 13 oo s 7,200 7,200
563 |ZEQ| gl 14 oo & A 7,200 7,200
564 |ZEQ| Al 15 | A 7,200 7,200
565 |Z&E2| g 16 oo s 7,200 7,200
566 |Z&Eo| G 17 oo &2 7,200 7,200
567 |ZE2| T 18 oo g4 7,200 7,200
568 |ZES| EH 19 M| & A 7,200 7,200
569 |ZE9| &n 2 oo s A 7,200 7,200
570 |Z&e| g 20 oo g 7,200 7,200
571 |ZEQ| g 21 oo 24 7,200 7,200
572 |&Eo| gH 3 oo 2|4 7,200 7,200
573 |ZHE2 EH 4 oo A 7,200 7,200
574 |ZEQ| Al 5 oo g A 7,200 7,200
575 |ZHE2 EH 6 oo g A 7,200 7,200
576 |ZHEQ| GH 7 oo & A 7,200 7,200
577 |¥HE9| X 8 oo A 7,200 7,200
578 |ZEQ| &Hl 9 oo g A 7,200 7,200
579 [OIXH& 8% 1 oo s 7,200 7,200
580 |O|AHY &% 10 oo & A 7,200 7,200
581 [O|XtY 89 11 oo 2 A 7,200 7,200
582 |O|X& &9 12 oo E A 7,200 7,200
583 |O|AHY 8 13 oo A 7,200 7,200
584 |O|AtY &9 14 oo A 7,200 7,200
585 |O|X& &9 15 oo E A 7,200 7,200
586 |O|AtY & 16 oo & A 7,200 7,200
587 |O|At2 89 17 a2 oo & A 7,200 7,200
588 |O|AHY &% 18 a2 oo 24 7,200 7,200
589 |O|XH2 &9 19 2= oo E A 7,200 7,200
590 |O|AHY &9 2 = oo & A 7,200 7,200
591 |O|xt2 84 20 23 oo A 7,200 7,200
592 |O|AHY &9 21 a2z oo g 7,200 7,200




593 |O|At 8 22 =K 7,200 7,200
594 [O|AH &9 23 23 7,200 7,200
595 |O|AHY & 24 25 7,200 7,200
596 |O|AtY &9 25 25 7,200 7,200
597 |O|XH¥ &9 26 2= 7,200 7,200
598 |O|AHY &9 27 23 7,200 7,200
599 |O|AHY & 28 25 7,200 7,200
600 |O|XtA &9 3 23 7,200 7,200
601 [O|AHY & 4 2= 7,200 7,200
602 |O|XtA 8 5 23 7,200 7,200
603 |O|XtA &84 6 23 7,200 7,200
604 |O|XtA &Y 7 25 7,200 7,200
605 |O|XtA &Y 8 2= 7,200 7,200
606 [O|XtA 89 9 = 7,200 7,200
607 |AlHt AlzoHorz 12,150 12,150
608 |02 Sl= M7 WE0| GAotM = de o™ |HEX 12,420 12,420
609 [CIAXtel SHIMHE Mot 11,610 11,610
610 |=tel O/E 2 Hotol 8,820 8,820
611 |2&el O/5t 3 Hotol 8,820 8,820
612 |24t A1 H 20 AZR A &0 oy gga 11,700 11,700
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